A=

(D= ]

DOUHA A=l

A ¢ oI X 2

2l ATHMUIUX e & B3 (EEREED
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
Ofl Lt K| 2t 144,244,704 145,990,856 A1,746,152
= 87,898,850
s 12,700,000
| 9,403,326
= 34,242,528
X &AH=sH 86,515,889 82,962,770 3,553,119
= 54,748,850
s 12,700,000
Il 3,234,064
& 15,832,975
ATHAEHUEX g 2 23 5,911,424 6,993,300 A1,081,876
= 40,000
| 920,064
& 4,951,360
OIHAXIEZ =& 4,640 4,500 140
202 o4t 4,640 4,500 140
01 =WO4HI 4,640 4,500 140
ONMUHXNIEA HR=A 4,500
S22 2eHHSEAL H#0 X 140
ATHAEHHXIMAIZE 2| =& 45,500 53,000 AT7,500
201 L2 AH| 45,500 53,000 A7,500
01 At=R2teld| 17,500 25,000 A7,500
OAITHHANUHXI ™A Z 2 17,500
02 SES249H| 28,000 28,000 0
OATHMANHKIEAIZ 2223 28,000
ATHANIUH X AlE 22l 904,000 869,000 35,000
201 Ler2AH| 895,000 840,000 55,000
01 AtR2teltl 35,000 30,000 5,000
O/ITHMOILH X YHEHX] 2 35,000
02 3324l 860,000 810,000 50,000
OAITHAOIL X EHEHX] SER3 58,000
OLI A0 K| MK OFM &IE 72,000
OQAITHMAOILA X YHEEHX] A2 2222 730,000
202 044l 9,000 9,000
01 =KL 9,000 9,000
OATHANUX HRF=A 9,000
ATHAOI X TSRS AIE (=) 338, 164 840,955 AB02,791
| 338, 164
403 XIS MS K201 338, 164 840,955 AB02,791
| 338, 164
01 AXHAAN=2EL 338, 164 840,955 A502,791
OB ZUMAIL &X 338, 164
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AEIRNEE =M ORI
M X ASS

Selr MTHAUMUA JHE 2 25 (EEREED
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
| | 33, 164
NSHMUXIE AIEEERAIS(Z1) 40,000 120,000 80,000
= 40,000
403 AXIEHMSA=01H 40,000 120,000 80,000
= 40,000
01 AXIEHA=2E X 40,000 120,000 80,000
OXISHUUXIZES AIE2 AN 40,000
= 40,000
FAE AWK SXAIL(=1) 665,400 1,054,800 389,400
Il 581,900
= 83,500
403 MXIHMSAH201H 665,400 1,064,800 389,400
Jl 581,900
= 83,500
01 RIS A= E X 665,400 1,054,800 389,400
OMASE & ARISXAIE DS WA 665,400
Il 581,900
S 83,500
ATHAOIA X XA (SR EXIH) 1,160,745 1,202,304 A41,559
403 XXM SIH=01A 1,160,745 1,202,304 41,559
01 AXIEHHA= 2L 1,160,745 1,202,304 41,559
OLTH AU X F=EAX AL 1,160,745
ATHANU X ESSXAG (2 EXR) 2,602,975 1,648,741 954,234
403 AXIEHHSAH201H 2,602,975 1,648,741 954,234
01 AXIEH A= E X 2,602,975 1,648,741 954,234
OXTHHNIU X SSEXIE AL 2,602,975
OIHXIOIZ SE3F At 150,000 0 150,000
403 TR EMSH=0lH 150,000 0 150,000
01 AXISHHA2E X 150,000 0 150,000
L= 20t 18 E LE0XYE wHAE 150,000
O X AH2 2t 16,160,225 7,121,000 9,039,225
= 1,063,250
= 12,700,000
Jl 2,314,000
= 82,975
SOHE OISH? PG AEMEED 2SAE(212) 800,000 1,000,000 200,000
= 800,000
403 AXIEHMSA=Z01H 800,000 1,000,000 /200,000
= 800,000
T AR 22X 800,000 1,000,000 /200,000
Os0E OISH? PGASENTHT E5AMY 800,000
= 800,000
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P SA OILXI D
HHM: LK AESY
?o 0 A2 (EEREED
AT A ZH . SR(E) - KIRAIY - BSS ol ke i fimE=T
S8 NUX 3 - 22l =& 4,000 4,000
202 04t 4,000 4,000
01 =UHoiHI 4,000 4,000
o8 olduXie g2=x 4,000
LPGEI| AHZIt7 AIEIHE AN (=) 342,225 117,000 225,225
2 263,250
== 78,975
403 XIXISHHIS RH20I & 342,225 117,000 225,225
2 263,250
== 78,975
01 RIXISHHI K22 X 2,225 117,000 225,225
OLPGEI| AFZIIT AIEIHA ALY 42,225
2 263,250
== 78,975
JelRY A2 NESAIY(3D) 2,314,000 0 2,314,000
p] 2,314,000
403 REXISHHI S RH20I X 2,314,000 0 2,314,000
pJ 2,314,000
01 XIS 2L x 2,314,000 0 2,314,000
ODRI=Y MEZ XEBHAIY 2,314,000
p] 2,314,000
HZX S MEI|EHLPG) ZHAY (D) 12,700,000 6,000,000 6,700,000
2 12,700,000
403 REXISHI S AH20I & 12,700,000 6,000,000 6,700,000
r=s 12,700,000
01 RIXISHHI X2 X 12,700,000 6,000,000 6,700,000
O™AXIS MEI|BHLPG) ZLAIY 12,700,000
2 12,700,000
SANST 22 64,444,240 68,848,470 4,404,230
2 53,645,600
== 10,798,640
HII01EX 22 XA (2D) 976,640 676,620 300,020
2 697,600
== 279,040
403 REXISHHI S AH20I X 976,640 676,620 300,020
2 697,600
== 279,040
01 REXIEHHIH2 2 & 976,640 676,620 300,020
O™II0IER 22 X 976,640
2 697,600
= 279,040
MeDtARIE 2Hl XIR(=2) 39,000 157,950 118,950

-374 -




A= M= A ¢ Ol Xt
M UK A=Y
el dESINSK 22 (EEREED
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
= 30,000
& 9,000
403 XXM S K=01& 39,000 157,950 A118,950
= 30,000
& 9,000
01 XIXISHHA=2E X 39,000 157,950 A 118,950
OFAHIAIIS PHl XA 39,000
= 30,000
= 9,000
HAIIARIE AZH| X3 (=1) 106,600 273,000 A 166,400
= 82,000
& 24,600
403 XHXIHMS =01 106,600 273,000 A 166,400
= 82,000
& 24,600
01 XtXIEHMIAH= 2 2= 106,600 273,000 166,400
OFEAHAIAIIE HA=H| K& 106,600
= 82,000
< 24,600
HIIXr S 200 K& (=1) 63,267,000 67,685,900 A4,418,900
= 52,796,000
== 10,471,000
403 XXIHMS K201 63,267,000 67,334,300 4,067,300
= 52,796,000
< 10,471,000
01 MIXHH =22 L 63,267,000 67,334,300 A4,067,300
O&IIXS X 01 X 63,267,000
= 52,796,000
= 10,471,000
AaNNSI 23 =& 3,000 3,000
202 Ot 3,000 3,000
01 =0 LI 3,000 3,000
OrEENSI B2 2= 3,000
HI|12=D| 200 X2 (=2) 52,000 52,000 0
= 40,000
< 12,000
403 XHXIEHHISAHE0 & 52,000 52,000 0
= 40,000
< 12,000
01 IXIHM K22 = 52,000 52,000 0
OXI|=Z=I| 701 K& 52,000
= 40,000
< 12,000
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A ¢ oI X 2

L HH . GR(B) - NIRAIE - BAR ofl &t i HIDEZ
= 9,301,776 6,657,881 ,643,895
Il 6,169,262
= 3,132,514
s =& 6,840,014 6,309,481 530,533
Il 3,862,500
= 2,977,514
JIZHetAAE X2 1,453,514 1,214,014 239,500
= 1,453,514 1,214,014 239,500
= 1,453,514 1,214,014 239,500
Ogt=)|=dsidE 29 K& 1,453,514
s d=x =a 4,000 4,000 0
4,000 4,000
01 2LHOIHI 4,000 4,000
CPIET LIRS EESS 4,000
EZI AL EASY Z28(20) 42,500 1,084,800 ,042,300
Il 42,500
HHSH=01A 42,500 1,084,800 ,042,300
Il 42,500
EHHEEx 42,500 1,084,800 ,042,300
dIIEAIE Hed 2HAIE £X 42,500
) 42,500
FHAAES XA (=1) 560,000 160,000 400,000
Il 560,000
HHsSH=01A 560,000 160,000 400,000
Il 560,000
01 XXIEHA=2 2 X 560,000 160,000 400,000
QJ|=H3 FAAHS NAAE 560,000
) 560,000
i =S8die HE(=20) 3,300,000 2,666,667 633,333
Jl 1,980,000
= 1,320,000
SHHSX=201& 3,300,000 2,606,667 633,333
) 1,980,000
= 1,320,000
2SO et S 2 A 3,300,000 2,666,667 633,333
SHo S sedH 2HE 3,300,000
Il 1,980,000
= 1,320,000
=X EASE JI2HE =8 XJ(=1) 980,000 280,000 700,000
Il 980,000
403 AXIEMSA=01A 980,000 280,000 700,000
Jl 980,000
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A= M= SA Ol X
HH: J|SHSM 7
ool JISHENS Y BpIMEN (B m)
AT RN B O9(3) - MRAE - BES 0jl &t i HIDS2
Od=F J|=datdg2 e 1,250,000
Jl 1,250,000
IR At Fd 41,923,900 49,799,300 AT,875,400
= 33,150,000
= 8,773,900
FEE A0 IS4 41,919,900 49,725,300 AT,805,400
= 33,150,000
[ 8,769,900
AL X AMH(=1) 375,000 1,350,000 /975,000
= 300,000
= 75,000
403 XIS A=01H 375,000 1,350,000 A975,000
= 300,000
= 75,000
01 AXIEHH A= E X 375,000 1,350,000 A975,000
O=AZTHA FFHIS X 375,000
= 300,000
S 75,000
=AM Fd 5,000 5,000 0
202 O 5,000 5,000
01 =04 5,000 5,000
OO0 T g 5,000
F=AMINSI B2 AI(=21) 31,677,600 40,312,800 A\8,635,200
= 25,900,000
= 5,777,600
403 AXIHSAH201H 31,677,600 40,312,800 /8,635,200
= 25,900,000
= 5,777,600
01 AXISHHA=2EXE 31,677,600 40,312,800 8,635,200
OFA&IINSI FAXIE 31,677,600
= 25,900,000
= 5,777,600
Mot ALY RRAFST AHY F(IHAEX) 274,800 6,590,000 6,315,200
308 AHXIEHMISOIA 274,800 6,590,000 26,315,200
1 SI 2SS 3 SRS A 274,800 6,590,000 6,315,200
Ot 0 AHURSEF At =4 274,800
FAMBIIHEY NSA 100,000 50,000 50,000
308 XXM SOIE 100,000 50,000 50,000
11 S| 2S0HetE & A A AL 100,000 50,000 50,000
O=2dE2IIHFE XA 100,000
Metel F2ATHIIEE =A0UX S84 X (SIHA 827,500 1,417,500 A590,000
ISINE))
| 308 AFXIEHMSOIE 827,500 1,417,500 590,000
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A= Y= SA Ol X
B LK A KA
HRlr ALY sadty |54 EEECE))
4. 2A - BH . SA(SH) - ARAY - BES 0l &t i HIDEZ
11 S| 2S0HeE & A A A 827,500 1,417,500 A590,000
OANIctY HFZ AT It =A0UX S 827,500
SANE SEIIX EAE(22) 6,010,000 0 6,010,000
= 4,450,000
& 1,560,000
403 AXIEHMSA=01A 6,010,000 0 6,010,000
= 4,450,000
& 1,560,000
01 MHXIHHAZE X 6,010,000 0 6,010,000
OF21usS I AFAEY 6,010,000
= 4,450,000
= 1,560,000
MSteA JMZIHAEIEE FEAR(21) 2,650,000 0 2,650,000
= 2,500,000
S 150,000
403 X SMSH=0lH 2,650,000 0 2,650,000
= 2,500,000
[ 150,000
01 MHXIHHA=ZE X 2,650,000 0 2,650,000
O%atea M2IGEIE 2=AIS 2,650,000
= 2,500,000
S 150,000
OILAXIICT JI8tEd 4,000 74,000 /70,000
HUX Z2HMH A=A 4,000 4,000 0
202 04l 4,000 4,000 0
01 SLHAHLI 4,000 4,000 0
OUUXl 224K =X 4,000
A2 A A (0L XDt 133,139 165,905 A32,766
el =d| 84,386 118,721 A34,335
ATHANHXIEAIZE 2E 84,386 118,721 N34,335
101 12| 84,386 118,721 N34,335
03 BRA(RIHL) 22 XE > 84,386 118,721 A34,335
OATHHEUUHRIEAIZ SRA QI2AH] 84,386
OPE== 55,007
-10-1122
(2,245,160 62 )+(2,283, 26024 62 ) 27,17
-128=2 2,319,610~ 122 27,836
od=2+g 4,358
-10-112S
(2,245, 160% *45%)+(2, 283, 2602 *45%) 2,038
1228 2,319,6102 x50%+22] 2,320
Odxt=a=x =g 2,49%
-10-112S 102,350& 12 1,229
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A= M= A oiE X2
M HH2HZHI(0ILXIDH)
chel: ol 2g| CERE)
AT A ZH . SR(E) - KIRAIY - BSS ol ke i fimE=T
-2&8= 105,370 =12 1,265
OAlZIeIRR4
25,9602 * 150%*20Al 2t 12 9,346
OFEFIHI 4,583,820 60%*22] 5,501
(OF=zals] 140,0002 2123 3,360
(@INE={z] 100,000 +2E ~ 128 2,400
OtE==E 80,0002 +2Z +12& 1,920
Jl=3hl 48,753 47,184 1,569
FNE2Z Jl=3Hl 48,753 47,184 1,569
201 ZEer2E ] 34,719 33,492 1,227
01 AtR2eltl 34,719 33,492 1,227
OFAN2ZE AtR2t2lt| 34,719
202 o4t 9,234 8,892 342
01 SLHOLI 9,234 8,892 342
ORAN2E U0 9,234
203 R F=&d| 4,800 4,800
04 FA2ELRFEHI 4,800 4,800
©302! Olat 400,000& x 128 4,800
HeE = (0L XD 6,370,000 6,405,000 235,000
LHEHH K= 6,370,000 6,405,000 /35,000
NATHA LN SE3H 2 6,370,000 6,405,000 A35,000
701 JIEt2 HSHES 6,370,000 6,405,000 235,000
01 JIEtSIHEEZ 6,370,000 6,405,000 235,000
OXAXNZANEN EE3IH 2 6,370,000
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20238 =0ila XISNZAELNMSE/H S

SA Ol Xl

M AUHX AEEY

el ATHAUUX HE 2 ES(RAXZAIZHNELESIA)

A - B C9I(E) - NIRAY - BES Ol &t i
Ofl LA XI 2t 5,610,000 5,327,000
HUX A=A 2,721,792 1,771,448
ATHAOIL X Y & SS(NLATRANENSESIA) 14,700 14,700
fiX2tel W=, 82, &AL =& 14,700 14,700
201 et 3| 14,700 14,700
01 AFR2eltl 14,700 14,700
ouUXIZad ns 22, 8#A = 14,700
HILXI K22 (RIS THAAIEASESH) 2,707,092 1,756,748
MASE 03 I3 JtA S AIZ(EHOIN 25,200 25,200
403 XX HMS =01 A 25,200 25,200
01 XtXIEHHI A= 2 = 25,200 25,200
OMASE 13 I3 JIAAE B2 25,200
SADEA AAXY B=4XIHl X 1,431,372 743,948
403 XX SHHMSX=01A 1,431,372 743,948
01 XtXIEHH A= 2 = 1,431,372 743,948
OZAIIIA AKX S=4XIHl K& 1,431,372
S0HE (PAEMEYI AIZLXIHl X 1,200,000 900,000
403 X SHMSA=01H 1,200,000 900,000
01 XISHHMAIZ2E X 1,200,000 900,000
Os0ZE LPGASEMNEH I AIZLEXIHl XI& 1,200,000
HIIAE O X2 23,520 33,600
403 XX SHHMSKZ01A 23,520 33,600
01 XtXIEHHI A= 2 = 23,520 33,600
OMASE =FHIIANE e 23,520
SADJIA B2HIE MHEEH FH 27,000 27,000
207 AN 27,000 27,000
01 ¢ E9H| 27,000 27,000
OZAIJIA BSHIE AEES 27,000
J|IZ=H A =& 27,000 127,000
JIEHS S FA(NSXAALMELSIH 27,000 127,000
EHAHIESAAIY S D1 ALEISEAME |X 27,000 27,000
308 AtXISHMSOIH 27,000 27,000
11 S 2SO HEHE & E &AL 27,000 27,000
OEAHISAAIY HAH OIS At SEAL
FXI 27,000
OIUX &lae SH 1,019,200 514,000
ZRAEE =AY SH (XA AEHNELESIA) 900,000 390,000
FAEEL & F=AMAALE KR 900,000 390,000
308 AXISHMSO0I& 600,000 390,000
01 AXEHILEES 180,000 100,000
OxATEAL U =AMAMAL 25 - 2 180,000
11 312 S0 HeHE & &AL 420,000 290,000




SA OIE X
E=E B & DR Falges e
9l AATH 2A4Y S (NATAALHSESI) (Shel:m2)
SA - BB SRI(S) - MRAR - BAS ofl &t i HIDEZ
OxFASEA & =AML 25 - 29 420,000
403 AXIEHMSA=01H 300,000 300,000
02 SI|2SHHE 2 X 2AE AL I 300,000 300,000
OFASHA Y SAMMALE 1= - 29 300,000
HIAXICT DI =S (XIS AEMEL S H) 119,200 124,000 /4,800
OIUX Al Fd 11,200 16,000 24,800
201 &Et2E | 11,200 16,000 4,800
01 AtR2telH] 11,200 16,000 A\4,800
OOl MdH W=, 82 F4A 11,200
fcd HIIM=S Ag =8 108,000 108,000 0
308 AXIEHHMSO0IA 108,000 108,000
11 S 2S0 U3 4R AS AL 108,000 108,000
ORcld HIINSS M = 108,000
WL s (0L X 1,777,000 2,850,000 A1,073,000
UWRHHXIE (XA TREAILNMSLESIA) 1,777,000 2,850,000 1,073,000
U&= 1,777,000 2,850,000 A1,073,000
704 &= 1,777,000 2,850,000 A1,073,000
01 &= 1,777,000 2,850,000 A1,073,000
Ou&=2 1,777,000
Glla1] 65,008 64,552 456
OIHIBH (XIS A ENISE3IH) 65,008 64,552 456
Gilalls) 65,008 64,552 456
801 0Bl 65,008 64,552 456
1 2eHolBll 65,008 64,552 456
oolglgl 65,008
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